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Unit 2 – Microeconomics – Market Failure

Market Failure
In today’s lesson we will consider what an economist understands by the concept of market failure.

1. Define market failure.

__________________________________________________________________________________________________________________
2.  We will be considering the following instances of market failure:-

· Negative externalities in production.

· Negative externalities in consumption

· Positive externalities in consumption

· Positive externalities in production.

Negative externalities in Production

3.  Define the term negative externality.

__________________________________________________________________________________________________________________
4.  What do you understand by the term ‘third party’?

__________________________________________________________________________________________________________________
5.  In the table below identify costs that would be considered private costs and those that would be considered external costs/negative externalities.

	Private Costs
	External Costs

	1.

2.  

3.  

4.
	1. 

2. 

3. 

4.


6.  Give an example of an industry/market that imposes external costs upon society.

7.   Draw a diagram to illustrate negative externalities in production. 
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8.  Why does the above situation represent market failure?

___________________________________________________________________________________________________________________________________________________________________________
Negative externalities in Consumption

9.  Sometimes it is the act of consuming a good or service rather than producing it that leads to market failure.

10.  In the table below can you identify goods or services whose consumption leads to market failure and also identify the nature of the market failure.

	Product/Service
	Negative Externality

	· 
	· 

	· 
	· 

	· 
	· 


11. On the diagram below illustrate the market failure caused by consumption of certain goods or services.
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12. How does this situation differ from the negative externalities in production diagram?

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Positive externalities in Consumption

13. Consumption of a product can sometimes lead to a situation whereby the person consuming benefits (satisfying their needs) and other people benefit (third parties).

14. Can you define the term ‘positive externality’?

_____________________________________________________________________________________________________________________________________________________________________
15.  Use the table below to identify goods and services, consumption of which leads to positive externalities.

	Product/Service
	Positive Externality

	· 
	· 

	· 
	· 

	· 
	· 


16.  Illustrate positive externalities in consumption on the diagram below.
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Positive externalities in Production

17. Production of goods and services can also generate positive externalities.  This occurs when the individual firm benefits from its commercial activities and other firms also benefit.

18. Can you think of examples of positive externalities in production?

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
19. Illustrate positive externalities in production on the diagram below.
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Extension Topic

20 Sometimes the situation becomes more complicated and both the production and consumption of a good/service can lead to market failure.

21. Explain why the motor industry might cause market failure.

_____________________________________________________________________________________________________________________________________________________________________
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22.  Illustrate this situation on the diagram below.
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23.  Define the term merit good.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________
24. Define the term demerit good.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________
Solutions to Market Failure
In this lesson we will be doing the following:-

1. Reviewing what we understand by the term market failure.

2. Look at how the government might correct market failure by way of imposing a tax.

3. Consider how a government might correct market failure by way of a subsidy.

Review Questions

· What is a negative externality?

· What is a positive externality?

· How does a negative externality in production differ from a negative externality due to consumption?

· What is a demerit good?

· What is a merit good?
Solutions to negative externalities in production

1. On the diagram below illustrate a market where there are negative externalities occurring due to production.
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2. Explain why the above diagram illustrates market failure.

___________________________________________________________________________________________________________________________________________________________________________________________________________________________
3. How and why should the government take action to correct the market failure?

_____________________________________________________________________________________________________________________________________________________________________
4. [image: image13.png]


On the diagram below show how the government could use a tax to correct the market failure. 
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5. Why would a tax prove to be an efficient method of correcting market failure?

________________________________________________________________________________________________________________________________________________________________________________________________________________________

6. What are disadvantages of this approach?

7. What are tradable permits?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
8. How can tradable permits be used to reduce negative externalities arising due to production?

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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9. Illustrate using the diagram below the impact upon efficient firms and inefficient firms of using tradable permits to regulate emissions from production.
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10. What are the disadvantages of using tradable permits to regulate negative externalities?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Negative Externalities in Consumption

11. On the diagram below illustrate how negative externalities arise from the consumption of demerit goods.


12. How might the government correct this instance of market failure?

___________________________________________________________________________________________________________________________________________________________________________
13. Give examples of different measures that could be used.


14. Illustrate this on the diagram below.


15. Does this approach to reducing negative externalities have any obvious disadvantages?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
16. An alternative method for reducing negative externalities arising from consumption is through an emissions charge.  This method has been implemented in London to control the amount of traffic using roads in Central London.

17. On the diagram below indicate the impact of the congestion charge. 


18. Why have some consumers not been in favour of such an emission charge?

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Positive Externalities in Consumption

19. The consumption of certain products leads to positive externalities (external benefits) whereby the social benefits derived from consumption exceed the private benefits.  How might the government increase consumption of these merit goods?

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
20.  Can you illustrate the impact of this policy on the diagram below?

 


21. Give examples of goods/services that the government might wish to subsidise.

· _____________________________

· _____________________________

· _____________________________

22.  Who are the winners and losers when the government decides to subsidize the production of a particular product or service?

	Winners


	Losers

	
	


Positive Externalities in Production

23.  How might firms be encouraged to engage in more staff training or research and development?

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
24.  What are the disadvantages of adopting these types of policies?

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Public Goods
· In today’s lesson we will be looking at the following issues.

1. The difference between a private good and public good.

2. The characteristics of a public good.

3. The provision of public goods.

1. Look at the two products below.  Which one is a private good and which one is a public good ?



__________________________________________________________________________________________________________________
2. Why would the _____________________ be described as a private good?

__________________________________________________________________________________________________________________
3. What do you understand by the term ‘public good’?

__________________________________________________________________________________________________________________
4. In the table below can you explain the following terms.

	Non-excludability


	

	Non-Rivalry


	


5. Who usually provides public goods?

_________________________________________________________
6. Why is this the case?  You should use the term ‘Free-Rider’ in your answer.

________________________________________________________________________________________________________________________________________________________________________________________________________________________
7. Below you should identify those goods that are public goods, those that are private goods and those that have an element of both.








8. Explain below why street lighting is non-rivalrous and non-excludable.

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
9. Explain why a Ferrari is both rivalrous and excludable.

__________________________________________________________________________________________________________________________________________
10. Why would it be problematic for a private company to provide a national defence service?

___________________________________________________________________________________________________________________________________________________________________________
11. Why might a lack of public goods in a society represent market failure?

__________________________________________________________________________________________________________________
Monopoly and Market Failure

1. Draw the monopoly diagram below.



2. Explain why a monopoly represents market failure.

___________________________________________________________________________________________________________________________________________________________________________
3. The government can take several measures to try to ensure that monopolies do not abuse their position and exploit consumers.  We will deal with these one at a time.

· Tax

___________________________________________________________________________________________________________________________________________________________________________
· Subsidy

___________________________________________________________________________________________________________________________________________________________________________
· Price Controls

___________________________________________________________________________________________________________________________________________________________________________
· De-merger (Explain how the government can control a monopoly by forcing them to demerge and use Microsoft as an example).

___________________________________________________________________________________________________________________________________________________________________________
· Reduce barriers to entry
a) What barriers to entry might have been imposed by the government?

__________________________________________________________________________________________________________________
b) How might the reduction of barriers to entry force the monopolist to be more efficient?

___________________________________________________________________________________________________________________________________________________________________________
· Privatisation and Nationalisation

a) Define both of the above terms in the box below.

	Privatisation


	

	Nationalisation


	


b) Why might nationalisation lead to lower prices, but also lower levels of efficiency?

___________________________________________________________________________________________________________________________________________________________________________
c) Why might the privatisation of the state monopoly lead to an improvement in efficiency?

___________________________________________________________________________________________________________________________________________________________________________
d) Demonstrate the impact that this might have on the state monopoly on the diagram below.



e) Complete the exercise below.  Identify the different types of government regulation that was used with the following monopolies.

	Company


	Type of Regulation

	Marlborough
	

	Water Company/British Telecom
	

	Microsoft
	

	Post Office
	

	Bus Company
	

	British Steel
	

	Rolls Royce
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